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1.000%38 80 195 257 320 155 207 278 212 186 8 8 1.906 95.3%
1.000LL E2.000%3 0 1 39 4 0 5 0 1 8 0 0 58 29%
2.000LL E3.000%35 0 0 16 0 0 0 0 0 9 0 0 21 1.1%
3.000EL L 4.000%35 0 0 6 0 0 0 0 0 0 0 0 6 0.3%
4000LL_E5.000%3 0 0 3 0 0 0 0 0 1 0 0 4 0.2%
5.000L1L_E10.000%5 0 0 5 0 0 0 0 0 0 0 0 5 0.3%
10.000LL £ 0 0 0 0 0 0 0 0 0 0 0 0| 0.0%
=3 1 80 196 326 324 155 212 278 213 200 8 8 2.0’00'
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1,000%8 61 55 29 142 65 29 69 26 476 58.0%
1,000LL £ 2,000% 5 10 32 18 12 8 3 23 2 108 13.2%
2,000L4 E 3,000% 75 2 15 9 10 3 0 4 4 47 5.7%
3,000LL E 4,000% 5 3 13 6 9 0 0 0 0 31 3.8%
4,000L1 £ 5,000k 3 0 15 2 5 0 0 0 0 22 2.7%
5,000LL E 10,000%3 0 36 7 6 0 0 0 0 49 6.0%
10,000LL £ 0 86 0 2 0 0 0 0 88 10.7%
&t 76 252 n 186 76 32 96 32 821
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1.000%58 4 52 150 20 23 18 267 100.0%
1,000LL E2.000%5 0 0 0 0 0 0 0 0.0%
2,000, £ 3,000%5 0 0 0 0 0 0 0 0.0%
3,000LL E4,000%5 0 0 0 0 0 0 0 0.0%
4,000, E5.000%5 0 0 0 0 0 0 0 0.0%
5,000LL £ 10,000% 5 0 0 0 0 0 0 0 0.0%
10,000LL E 0 0 0 0 0 0 0 0.0%
&t 4 52 150 20 23 18 267
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